) AVEIN

ABAHTIIMOL

ADJUSTABLE OLYMPIC BENCH PREESS AX1036

Maykog Aponc Bapwv EnayyeApauxog AX1036

'Ortou untapyet AMILA,

ITEM NO.: 93704 YNAPXOYN NIKHTEL.



™

AV

ABAHTIIMOL

WORLD

H Amila npwtonopei otnv ayopd twv NPOIGVIWY YUUVACTKAS,
aBAnuopou kai uegias, NpooPépovtas Névia Kavotdpes NUOEIS
nou avtanokpivovtal oe kaBe oou avdykn. Me pia eupeia ykdua
npoidviwy, eyyudtal uynin noidtnta kai agioniotia.

H 6éopeuon pas eival va napéxoupe e€onniopd Kal unnpeaies
nou NPodyouv TNV Uyeid, T GUOIKA KAtdotaon Kal tnv euegia,
IKOVOMOIMVTAs TS OUYXPOVES AMaAITNOEIS TS ayopds.

Ye npookanoUpe va yivels pélos ts duvapikns kal
apooiwpévns kovetntas s Amilal Qs kopugaios npopnBeuths
0OpYAvWV YUPVAOTIKAS, €iNaote €0 yia va o€ Unootnpi€oupe Kkal
va polpactoupe noAUupo neplexdpevo nou Ba o weeANoEl.

Avakdnuye évav véo KOOPO YUPVAOTKNS Kal VEEias pe tnv
Amila, oto web kai ta social media!

Eipaote €6 yia va o€ epnvelooUpE pe OUPPOUNES,
NPOMNOVNOEIS KAl VEX NPoiovia.

Tuvbéoou pe tnv Amila kat
{noe v epretpla g
YUHVAOTIKAG OTIWG TIOTE
AAAOTE.

Connect with Amila and
experience fithess like
never before.

o]

-
L}

A

E.

Amila, is a pioneer in fitness, sports and wellness equip-
ment, always offering innovative solutions that meet
your every need. With a wide range of products, it can
guarantee high quality and reliability.

Our commitment is to provide equipment and services
that promote health, fitness and wellness, meeting
modern demand.

We invite you to become a member of the dynamic and
dedicated Amila community! As a leading supplier of
fitness equipment, we are here to give you support and
share with you valuable content that will benefit you.

Discover with Amila a new world of fitness and well-
ness, on the web and social media!

We are here to inspire you by offering advice, training
ideas and new products.

@dimitra.akavalou

=400
i

=
‘l

amilaworld.gr
koAwg NpBeg atov kaapio g AMILA
welcome to the world of AMILA



1

ANAAYTIKO ZXEAIATPAMMA LYNAPMOAOIHZHZ




m TYNAPMOAOIHEZH
Brua 1o

1. Zuvbéarte tov opidovtio owAnva (7) ota katw Tunpata twv opBootatwy (1 & 2) pe 4 BidegM10x75 (32),
8 podéAeg 10 (36) kal 4 na&iuadia aopaleiag M10 (39).

2. Elodyete 1a dvw tunpata twv opBootatwy (3) ota katw tpnpata (1 & 2) kat oTEPEWOTE TOUG 0TO EML-
Bupntod UYog pe ta nopoAa (43).

3. TonoBetnote tov owAnva othpigng tng NnAATng (8) otig unodoxEg nou UNAPXouv oTa KATW TUAKATA TWV
opBootatwv (1 & 2).

4. TonoBetnote ta aykiotpa acpaleiag (14 & 15) ota dvw Tunpata twv opBootatwy (3) Kal oTEPEWOTE
1a pe na&iyadia aopalieiag M8 (38).

7
>, S
oY) 15
38_,_/,‘. \ﬂ
3— |,
d 38 .
,<,/

3','—




Brua 20

1

. Xuvbéote Tov KUpiwg okeAeTd (4) otov optdovtio cwAnva (7) pe 2 Bideg M10x75 (32), 4 podéleg 10 (36)

Kat 2 na§pdadia acpaieiag M10 (39).

. Nepdote 10 pubuIldpEevo athpiyua (6) oto Kivntd athplyua (5) Kal oTepewaTte To Je NopoAo (27).
. LTEPEWOTE TO KIVNTO otnplypa (5) otov Kupiwg oKeAETO (4) pe Bida M10x90 (33), 2 podéheg 10 (36) kat

na&ipadt acpaieiag M10 (39).

. LTEPEWOTE To 0€T TN AaPng (9) oto Kivntd othpiypa (5) pe Bidba M10x65 (31), 2 podéheg 10 (36) Kal

na&ipadt acpaieiag M10 (39).

. Xuvbéote Tov pubpiotikd neipo (12) oto pubuilopevo atnpiypa (6) pe nafipadt acpaleiag M12 (40).

Mdote 1o eAatnpio (13) otov pubuioTiko neipo (12) kal 1o pubuildpevo atnpiypa (6).




Brua 30

1. TonoBetnote 1pifeic (17) oug Bdoeig tou kabiopatog (10) kKat tng nAGtng (11)

2. Yuvdéote ug Baoeig kabiopatog (10) kat nAdtng (11) oto puBuilopevo athpiypa (6) pe 2 Bideg M12x90
(34), 4 podéheg 12 (37) kat 2 na&uadia acpaieiag M12 (40).

3. Ltepewote 1o Kabiopa (41) atn Bdon tou (10) pe 2 Bideg M8x25 (30) kat 2 podeleg 8 (35).

4. Ytepewote tnv NAATn (42) otn Bdon tng (11) pe 3 Bibeg M8x25 (28).

5. Aykiotpwote tn Bdon tou kaBiopatog (10) otov puBuioTiko neipo (12).




EXPLODED DRAWING




m ASSEMBLY

Step 1

1. Attach Under Support (7) to Right and Left Upright Support (1, 2) with four Bolts M10*75 (32), eight
Washers 10 (36) and four Lock Nuts M10 (39).

2. Insert Barbell Supports (3) into port of Right and Left Upright Support (1, 2). Use Red Fast Pin (43) to
secure the Support and desired height.

3. Put Upper Support (8) to U-Bracket on Right and Left Upright Support (1, 2).

4. Attach Right and Left Safety Hook (14, 15) to Right and Left Upright Support (1, 2), secure with two

Lock Nuts M8 (38).
7
Y
38_,_/,‘. \ﬂ
3— |,
-~ 38 .
<-*:f/ "
14—\
; 43— Cay,
3—1 |
. 2




Step 2

1. Attach Main Frame (4) to Under Support (7) with two Bolts M10*75 (32), four Washers 10 (36) and
two Lock Nuts M10 (39).

2. Slide Adjustable Support (6) onto Rotating Support (5), secure with Fast Pin (27).

3. Attach Rotating Support (5) to Main Frame (4) with Bolt M10*90 (33), two Washers 10 (36) and Lock
Nut M10 (39).

4. Attach the Handle Block (9) to Rotating Support (5) with Bolt M10*65 (31), two Washers 10 (36) and
Lock Nut M10 (39).

5. Attach Adjustable Pin (12) to Adjustable Support (6) with Lock Nut M12 (40). Hook the Spring (13) to
Adjustable Pin (12) and Adjustable Support (6).




Step 3

1. Attach Bushings (17) to Seat Support (10) and Back Support (11).

2. Attach Seat Support (10) and Back Support (11) to Adjustable Support (6) with two Bolts M12*90 (34),
four Washers 12 (37) and two Lock Nuts M12 (40).

3. Attach Seat Cushion (41) to Seat Support (10) with two Bolts M8*25 (30) and two Washers 8 (35).

4. Attach Backrest Cushion (42) to Back Support (11) with three Socket Bolts M8*25 (28).

5. Hook Seat Support (10) to Adjustable Pin (12).

— 10—



& WEB amiby @- - — - -

Eipaote npwtonodpor otov enayyeApatiko Kai
€PAOITEXVIKO aBANTIoNO, PE 10Xxupd brands,
Kalvotdpes npotdoels & euéniktes NUOEIS AyopmV.

-—-@® & BLOG

Meive evnpepwp€vos yia véa
npoidvta, tn owoth ToUs Xphon
kal diagopa tips yUpw an’ o
Xpo tou fitness

We are pioneers in the field of commercial and
amateur sports, with strong brands, innovative
proposals & flexible solutions.

Stay informed about new
products, their correct use and
various tips about fitness.

SPORTS

¢J' TikTok

Aes eknaibeutkd Bivieo nou Ba
papnéouv tnv Nnpocoxn cou
kal Ba o€ evBouaidoouv pe
YPNYOPES Kal anoteAEOPATIKES
NPOMNOVNOEIS.

Instagram. @ - —

Avakdnuye évav véo kbopo
YUPVaOUKAS Kal Uegias pe
PWTOYPaPies Kal Pivieo, e

oupPounés, aoknaels Kkai
€unveuon!

Bpes pas oto TikTok avalntivias
10 dvopa xphotn @AmilaFitness
Kal Nathote to Koupni

" AkodouBnog”.

Avalhtnoe 1o évopa xphaotn
@amila.gr kar nathote o koupni
" AkoflouBnoe”.

Explore instructional videos
which will grab your attention
and excite you with quick but
effective workouts.

Discover a new world about fitness
and wellness, with photos, videos,

ideas, exercises and inspiration!
Find us on TikTok by searching
the @AmilaFitness user name
and pressing the “Follow”
button.

Search for the @amila.gr user
name and press the “Follow”
button.

®

AN “"““mm
NKITEL.

AMILA

i

|
@€ YouTube ‘ -

Eniokéyou to kavdani pas oto YouTube kai 6es avadutkd

|
fvieo napouaciaons opydvwy YUPVAOTUKAS, NPOMNOVACEIS
P o o etoriale & ‘ 3 facebook

kal tutorials ano tous €1dikoUs pas.

Matnoe 1o koupni “Eyypa®n” kal 1o Kapnavak yia va AvaptoUpe kaBnpepivé pwtoypapies kai Bivieo pe
EVNUEPMVECE Yia KAOe véo Bivieo. oupPounés kal aoknoels. Molpdoou pe ¢iflous tv
€UNEIPIA KAl TN yVMON NOU 0oU NPOCPEPOUV Ol E1SIKOI

Visit our YouTube channel and find video presentations of Tou Xxwpou.

fitness equipment, workouts and tutorials by specialists. Mnes otn oefida pas oto Facebook kai namnoe “Mou

Press the “Subscribe” button and then the bell in order to apéoer” kai “AxoflouBnoe”.

be notified about every new video.

1[m]
iy

E_ We post photos and videos with advice and workouts.
Tl Share the experience and knowledge offered by experts
'_:!' with your friends.

Visit our Facebook page and press “Like” and “Follow".

- i

-
|
i

[=]
T

amilaworld.gr
LNeg otov koapo g AMILA
enter the world of AMILA



Where there is AMILA,

THERE ARE WINNERS.

™

AN [1 1AV

SPORTS

sport
Aiavépetal ané Tnv EAAIKO ZIMOP MON. A.E.E. Distributed by ELDICO SPORT SA
EAPA: Kaoodvdpag 30, 10447 Abnva (Botavikég) HQ: 30 Kassandras Str., 10447 Athens (Votanikos)
TnA.: +30 2103478279, Fax: +30 2103450168 Tel.: +30 2103478279, Fax: +30 2103450168
YI/MA: 8o xAu. ©eo/vikng - ABrvag, 57400 Zivdog Branch: 8Km Thessaloniki - Athens, 57400 Sindos
TnA.: +30 2310570037, Fax: +30 2310796958 Tel.: +30 2310570037, Fax: +30 2310796958

eMail: support@eldico.gr | Site: www.eldico.gr




